BRI A B ERIE

*t % HAfEl
- ER23E1A1BMNSER23FE 12831 B2 MES (%5345 240844)

E xR ‘

ITHNAZEEE SRR RERANAZER 1245 2006 ERR E1ER
-ERER S fEESS ICD-0-3

-UICC-TNMEMEBZND7EE ZF6hR

BHNR \
ETDMHAAIBLUVIKNOBRHESEED
-1EE1 &%

- ABz - 9% SR AE 1

SatAk ]
-BREREEVRT L&Y, £t

X TI70DEESEMLET, B KiG-HE-f-SLEDCETHS.

LR I ER K FH R R



B A B SR ER AL A - #(201145E1 A ~ 12 A 2 %)

ICD [RFEEBAL EHERHH
C00 mp=: 1
Co1 EFR<EED>ER 2
C02 ZDMRUEBARADE 22
Co3 ER 4
C04 O R 5
CO05 WS 1
CO06 ZDhd O fE 7
Co7 HETR 1
co8 Z O fth 0D K % AR 2
C09 =Bk 5
C10 thIEEE 2
Ci1 £1HEE 4
C13 TIHEE 15
Cl4 Z O fth IHEE 0
Cc15 B 104
C16 g 346
C17 ING 11
c18 =1 184
C19 B SIKEEREITED 23
C20 EEZ A
c21 AIFI R URLFE 2
C22 FF R OFFREE 155
c23 fEE 17
C24 Z DD REE 38
C25 53 127
C26 ZDHDHEILEE 0
C30 EERUGE 0
C31 Y 6
c32 MXEE 10
C34 K[E X R U 173
C37 AR 2
C38 DM R R iR 8

ICD [ FE&B L EREH
C40 BRDE . BT R OB ETERE 2
C41 ZTOMDE . EE R UEEERE 2
C42 15 0 R R UM R R 78
C44 KE 72
C48 ZIEER VIR 5
C49 EE M. R THEBR VT ERERRE 14
C50 ZLE 172
C51 VA= 3
C52 fE 1
C53 FEH 82
C54 F=ARER 25
C56 ORE 18
C61 AITSL AR 209
C62 8 7
C63 DD B4R 8
C64 23 58
C65 =& 9
C66 RE 10
C67 e 72
C68 Z DD W RER 1
C69 BRUtER 3
C70 BRAE 42
C71 Aix 22
C72 B, g RUPREER 8
Cc73 K AR 51
C74 B2 4
C75 Z DD 5> i AR K U BE E AR 8 17
C76 Z O fth R U A BARE R BB L 0
c77 1)/ \Ef 51
C80 [RFEABH 14

wE 2408




250

F ESEBL - 145l 3K

200

150

226

171

m B
100 [ E-did
’ B8 tEE-EG B fik 2E
FESHERRL A - 1 B4 3
B take - Bk P ek it FLE
B4 226 158 103 127 1
Z4 120 120 52 46 171




250

200 -+

150 -

B - BB 2 (LGS ERGL)

226

209

103

100 - m Bt
i BIISLAR FF fik
ERALA - 55 1% 3% (£ IS ERf)
ER AL B RII3L R fEhm - B fa fif AT ik
1420 226 209 158 127 103

3




250

BRI - ZCTE B (B L SER )

200

150 -~

171

m
LA - B (LIS ER L)
ER AL LB B fi& b - B b F = A e ik
520 171 120 120 82 o4




“RERE (FRLUR) S

2.3% 2.9%

m F0FR

mEH

mE

m Hi2

m fE3h

mIEXR

nFE

ZREREFIFHLURMNEE

M| AH NE HiZ | {#th | 8K | =
428 1379 219 213 86 150 49 63
AOxtte|  0.31% 026% 0.18% 0.06% 021% 0.05% 0.08%
ZNE 63.9%  10.1% 9.9% 4.0% 6.9% 2.3% 2.9%




L | ol YN
FESERAI+RILAR - ;A2 A4 %%
160
140 135 uE
120 w Eh
Ei5
100 = hi
80 m fifi
60 22 3R
40
40 "
W gIAL
20 B
1o 100 00 000
0
SNERAEERDHY REEERAEDHY RIRFERAEDHY b EEHY et AERHY R bEEHY L—H—aEHY TAERERHY
FESERAIBI+RISLER - AR
SNEBEERDY |FEEMARDYIRNRENAEDY| E2EEHY | BMEHRAEDY | ADWMAERDY |[L—Y—AEHY| TAEAREHY
= 89 25 135 63 1 0 1 0
tah5 - B 36 127 68 52 8 0 0 0
P ik 32 5 1 66 6 0 40 52
i 3 59 0 57 19 1 1 0
3B 119 1 0 45 51 93 0 0
BISLRR 23 39 0 0 59 82 0 0




